BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE TAVOLA WEST SECTION 5 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS NOVEMBER 30, 2023

NOVEMBER 30, 2023 LJA ENGINEERING, INC. T. JOSEPH NOVEMBER 30, 2023 6969-1305 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) DACO PAVING, INC.	\$745,460.00
2) ARANDA BROTHERS CONSTRUCTION CO., INC	\$752,458.00
3) BEYER CONSTRUCTION, LLC	\$757,695.67
4) NORKON CONSTRUCTION, LLC	\$789,190.05
5) HCG LLC	\$816,126.35
6) ICON GC LLC	\$839,000.00

CALENDAR DAYS 45/55



I, Justin Graham, PE, hereby certify these bid tabulations to be true and correct.

Page 1 of 7 FRN F-1386
LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE TAVOLA WEST SECTION 5 EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5 MONTGOMERY COUNTY, TEXAS NOVEMBER 30, 2023 LJA ENGINEERING, INC. T. JOSEPH

NOVEMBER 30, 2023

6969-1305 (9.2)

200 000 110.		00	000 1000 (0.2)		2) ARANDA BROTHERS CONSTRUCTION CO., INC. 3) BEYER CONSTRUCTION, LLC			
			1) DACO PAV		•		•	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TAVOLA WEST SECTION 5 PAVING IMPROVEMENT ITEMS	0)/	0400	647.00	¢400.070.00	640.00	0407.404.00	\$50.45	£450,400,00
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9108	\$47.00	\$428,076.00	\$48.00	\$437,184.00	\$50.45	\$459,498.60
2 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	952	\$4.00	\$3,808.00	\$4.25	\$4,046.00	\$4.50	\$4,284.00
3 4" X 12" REINFORCED MOUNTABLE CURB, COMPLETE IN PLACE	LF	3895	\$4.00	\$15,580.00	\$4.00	\$15,580.00	\$4.50	\$17,527.50
4 6" LIME/FLY-ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10185	\$3.75	\$38,193.75	\$4.00	\$40,740.00	\$2.55	\$25,971.75
5 HYDRATED LIME FOR STABILIZED SUBGRADE (15 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	76	\$325.00	\$24,700.00	\$330.00	\$25,080.00	\$320.00	\$24,320.00
6 FLY ASH STABILIZED SUBGRADE (35 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	178	\$135.00	\$24,030.00	\$140.00	\$24,920.00	\$130.00	\$23,140.00
7 COMMON ROADWAY AND LOT EXCAVATION TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	CY	4762	\$7.00	\$33,334.00	\$5.00	\$23,810.00	\$6.10	\$29,048.20
8 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT STRIPING, MARKERS, ETC., COMPLETE IN PLACE	LS	1	\$7,788.50	\$7,788.50	\$10,500.00	\$10,500.00	\$5,700.00	\$5,700.00
9 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	5	\$16.00	\$80.00	\$20.00	\$100.00	\$7.50	\$37.50
10 REMOVE AND DISPOSE TYPE III BARRICADE (BY OTHERS), COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$200.00	\$200.00	\$10.00	\$10.00
11 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
12 FILTER FABRIC FENCE (SILT BARRIER FENCING), BEHIND CURB, AND ALONG BOUNDARY, SWMHCA SPECIFICATION NO. 4211, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	8552	\$0.25	\$2,138.00	\$3.00	\$25,656.00	\$0.25	\$2,138.00
13 ADDITIONAL 6" LIME/FLY-ASH STABILIZED SUBGRADE TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BYTHE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	SY	1000	\$1.00	\$1,000.00	\$4.00	\$4,000.00	\$1.00	\$1,000.00
ADDITIONAL TRU BLN LIME/FLYASH MIXTURE FOR SUBGRADE PREPARATION (2% LIME BY WEIGHT, 15 LB/SY AND 8% FLY ASH BY WEIGHT, 35 LB/SY), TO BE USED FOR UNSTABLE SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	50	\$50.00	\$2,500.00	\$150.00	\$7,500.00	\$50.00	\$2,500.00
15 TEMPORARY TRAFFIC CONTROL AS REQUIRED FOR CONSTRUCTION, INCLUDES BUTTONS, SIGNS, STRIPING, MARKERS, BARRELS, FLAGMEN AND ANY OTHER TRAFFIC CONTROL MEASURES REQUIRED, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$750.00	\$750.00
16 STAGE II INLET PROTECTION BARRIER ON EXISTING INLETS. COMPLETE IN PLACE	EA	22	\$150.00	\$3,300.00	\$100.00	\$2,200.00	\$120.00	\$2,640.00
17 FULL CONSTRUCTION STAKING FOR PAVING CONSTRUCTION, COORDINATE WITH GBI PARTNERS, SURVEY, JON BORDOVSKY, 281.499.4539, COMPLETE IN PLACE	LS	1	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAVOLA WEST SECTION 5
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
NOVEMBER 30, 2023
LJA ENGINEERING, INC.
T. JOSEPH
NOVEMBER 30, 2023
6969-1305 (9.2)

257 005 110.			`	0000 1000 (0.2)					
			1) DACO PAVING, INC.		2) ARANDA BROTHERS	S CONSTRUCTION CO., INC.	3) BEYER CONST	RUCTION, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	N PREVENTION PLAN COMPLIANCE, INCLUDING I NOI AND NOT, COMPLETE IN PLACE	LS	1	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
19 FINAL LOT GRADING, INCL	UDING RESERVES, COMPLETE IN PLACE	EA	74	\$250.00	\$18,500.00	\$200.00	\$14,800.00	\$250.00	\$18,500.00
20 INSTALLATION, MAINTENA COMPLETE IN PLACE	NCE, AND REMOVAL OF CONCRETE TRUCK WASHOUT,	EA	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
	IL, INCLUDING TRUNCATED DOME PAVERS OR REA AS NOTED IN CONSTRUCTION PLAN SET,	EA	6	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$1,250.00	\$7,500.00
22 TYPE III BARRICADES, COI	MPLETE IN PLACE	EA	2	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00	\$1,360.00	\$2,720.00
23 28' PAVING HEADER, COM	PLETE IN PLACE	LF	56	\$18.00	\$1,008.00	\$15,00	\$840.00	\$15.00	\$840.00
TAVOLA WEST SECTION 5 PAVIN	NG IMPROVEMENT ITEMS SUBTOTAL:				\$632,359.25		\$663,178.00		\$641,647.55
TAVOLA WEST SECTION 5 PAVII	NG MISCELLANEOUS ITEMS								
1 STANDARD DEDUCT FOR : BY THE OWNER), COMPLE	STREET CLEANING, (TO BE USED ONLY AS DIRECTED IT IN PLACE	HR	0	-\$150.00	\$0.00	-\$150.00	\$0.00	-\$150.00	\$0.00
	DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO FED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
ROOTS, CHIPPING OF CLE	RUBBING, INCLUDES REMOVING ALL STUMPS AND ARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, ED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
SHOWING ELEVATIONS AT SIGNIFICANT GRADE BREA PAY FOR REMOBILIZATION BY THE DEVELOPER. IF TH	IE AS BUILT SURVEY AT THE END OF CONSTRUCTION IT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, AKS AND EXTREME EVENT SWALES (NO ADDITIONAL NOF DIRT EQUIPMENT UNTIL THE LOTS ARE ACCEPTED HE LOTS ARE NOT BUILT ACCORDING TO THE GRADING RADED AT NO SEPARATE PAY), AS DIRECTED BY THE PLACE	LS		\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
5 4" SCHEDULE 40 P.V.C. SL COMPLETE IN PLACE	EEVE, INCLUDES 6" STABILIZED SAND WRAP,	LF	80	\$50.00	\$4,000.00	\$40.00	\$3,200.00	\$25.00	\$2,000.00
6 6" SCHEDULE 40 P.V.C SLE COMPLETE IN PLACE	EEVE, INCLUDES 6" STABILIZED SAND WRAP,	LF	80	\$65.00	\$5,200.00	\$60.00	\$4,800.00	\$35.00	\$2,800.00
7 8" SCHEDULE 40 P.V.C. SL COMPLETE IN PLACE	EEVE, INCLUDES 6" STABILIZED SAND WRAP,	LF	80	\$82.00	\$6,560.00	\$70.00	\$5,600.00	\$45.00	\$3,600.00
TWO 5' X 5 'X 4" CONCRET	AILBOX PAD WITH #3 AT 15' D.C.E.W. OR EQUAL WITH IE SIDE PANELS, ON 2" BANK SAND BEDDING, (TO BE BY THE ENGINEER, LOCATION TO BE DETERMINED)	EA	1	\$1,800.00	\$1,800.00	\$1,650.00	\$1,650.00	\$1,655.72	\$1,655.72
TAVOLA WEST SECTION 5 PAVIN	NG MISCELLANEOUS ITEMS SUBTOTAL:				\$29,560.00		\$27,250.00		\$22,055.72
TAVOLA WEST REC CENTER PA	VING IMPROVEMENT ITEMS								
1 6" REINFORCED CONCRET	TE PAVMENT, COMPLETE IN PLACE	SY	1032	\$65.00	\$67,080.00	\$48.00	\$49,536.00	\$71.70	\$73,994.40
2 6" REINFORCED CONCRET	TE CURB, COMPLETE IN PLACE	LF	557	\$4.50	\$2,506.50	\$4.00	\$2,228.00	\$5.50	\$3,063.50
3 6" LIME/FLY-ASH STABLIZE	ED SYBGRADE, COMPLETE IN PLACE	SY	1139	\$3.75	\$4,271.25	\$4.00	\$4,556.00	\$7.50	\$8,542.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BASE BID

SUBTOTAL TAVOLA WEST REC CENTER PAVING IMPROVEMENT ITEMS

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAVOLA WEST SECTION 5
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
NOVEMBER 30, 2023
LJA ENGINEERING, INC.
T. JOSEPH
NOVEMBER 30, 2023
6969-1305 (9.2)

\$83,540.75

\$745,460.00

\$62,030.00

\$752,458.00

				1) DACO PAV	ING, INC.	2) ARANDA BROTHERS	CONSTRUCTION CO., INC.	3) BEYER CONSTR	RUCTION, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SOIL CONDIT	IME FOR STABILIAZED SUBGRADE (15 LBS/SY) AS REQUIRED BY FIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO LY FOR FIELD LAB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	9	\$385.00	\$3,465.00	\$320.00	\$2,880.00	\$320.00	\$2,880.00
AND APPROV	ABILIZED SUBGRADE (35 LBS/SY) AS REQUIRED BY SOIL CONDITIONS VED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY AB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	20	\$190.00	\$3,800.00	\$135.00	\$2,700.00	\$130.00	\$2,600.00
FILL LOCATION TRUCKS AND INCLUDES SI	DADWAY AND LOT EXCAVATION TO BE HAULED TO A DESIGNATED ON WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF ROAD DELACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, ITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., O CROSS OR TRAVERSE EXISITING ROADWAYS, COMPLETE IN	CY	26	\$93.00	\$2,418.00	\$5.00	\$130.00	\$112.00	\$2,912.00
TAVOLA WEST REG	C CENTER PAVING IMPROVEMENT ITEMS SUBTOTAL:				\$83,540.75		\$62,030.00		\$93,992.40
BIDDING SUMMARY	<u>(</u>								
SUBTOTAL TAVOLA	A WEST SECTION 5 PAVING IMPROVEMENT ITEMS				\$632,359.25		\$663,178.00		\$641,647.55
SUBTOTAL TAVOLA	A WEST SECTION 5 PAVING MISCELLANEOUS ITEMS				\$29,560.00		\$27,250.00		\$22,055.72

FRN F-1386 LJA Engineering, Inc.

\$93,992.40

\$757,695.67

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAVOLA WEST SECTION 5
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
NOVEMBER 30, 2023
LJA ENGINEERING, INC.

T. JOSEPH NOVEMBER 30, 2023 6969-1305 (9.2)

LJA JOB NO.		69	969-1305 (9.2)					
			4) NORKON CONST	TRUCTION, LLC	5) HCG,	LLC	6) ICON G	C, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TAVOLA WEST SECTION 5 PAVING IMPROVEMENT ITEMS								
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9108	\$48.80	\$444,470.40	\$48.15	\$438,550.20	\$48.00	\$437,184.00
2 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	952	\$6.65	\$6,330.80	\$3.90	\$3,712.80	\$4.00	\$3,808.00
3 4" X 12" REINFORCED MOUNTABLE CURB, COMPLETE IN PLACE	LF	3895	\$4.30	\$16,748.50	\$3.90	\$15,190.50	\$4.00	\$15,580.00
4 6" LIME/FLY-ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10185	\$3.35	\$34,119.75	\$4.65	\$47,360.25	\$6.50	\$66,202.50
5 HYDRATED LIME FOR STABILIZED SUBGRADE (15 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	76	\$327.00	\$24,852.00	\$333.00	\$25,308.00	\$372.00	\$28,272.00
6 FLY ASH STABILIZED SUBGRADE (35 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	178	\$187.50	\$33,375.00	\$130.00	\$23,140.00	\$191.00	\$33,998.00
7 COMMON ROADWAY AND LOT EXCAVATION TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISTING ROADWAYS, COMPLETE IN PLACE	CY	4762	\$4.25	\$20,238.50	\$10.30	\$49,048.60	\$13.00	\$61,906.00
8 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT STRIPING, MARKERS, ETC., COMPLETE IN PLACE	LS	1	\$7,725.00	\$7,725.00	\$7,730.00	\$7,730.00	\$6,169.10	\$6,169.10
9 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	5	\$599.00	\$2,995.00	\$17.20	\$86.00	\$16.00	\$80.00
10 REMOVE AND DISPOSE TYPE III BARRICADE (BY OTHERS), COMPLETE IN PLACE	EA	1	\$3,620.00	\$3,620.00	\$192.00	\$192.00	\$100.00	\$100.00
11 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$2,248.00	\$2,248.00	\$2,135.00	\$2,135.00	\$150.00	\$150.00
12 FILTER FABRIC FENCE (SILT BARRIER FENCING), BEHIND CURB, AND ALONG BOUNDARY, SWMHCA SPECIFICATION NO. 4211, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	8552	\$2.00	\$17,104.00	\$3.45	\$29,504.40	\$2.50	\$21,380.00
13 ADDITIONAL 6" LIME/FLY-ASH STABILIZED SUBGRADE TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BYTHE GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	SY	1000	\$3.05	\$3,050.00	\$5.70	\$5,700.00	\$4.50	\$4,500.00
14 ADDITIONAL TRU BLN LIME/FLYASH MIXTURE FOR SUBGRADE PREPARATION (2% LIME BY WEIGHT, 15 LB/SY AND 8% FLY ASH BY WEIGHT, 35 LB/SY), TO BE USED FOR UNSTABLE SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	50	\$288.50	\$14,425.00	\$295.00	\$14,750.00	\$275.00	\$13,750.00
15 TEMPORARY TRAFFIC CONTROL AS REQUIRED FOR CONSTRUCTION, INCLUDES BUTTONS, SIGNS, STRIPING, MARKERS, BARRELS, FLAGMEN AND ANY OTHER TRAFFIC CONTROL MEASURES REQUIRED, COMPLETE IN PLACE	LS	1	\$2,673.00	\$2,673.00	\$1,380.00	\$1,380.00	\$250.00	\$250.00
16 STAGE II INLET PROTECTION BARRIER ON EXISTING INLETS. COMPLETE IN PLACE	EA	22	\$131.50	\$2,893.00	\$115.00	\$2,530.00	\$50.00	\$1,100.00
17 FULL CONSTRUCTION STAKING FOR PAVING CONSTRUCTION, COORDINATE WITH GBI PARTNERS, SURVEY, JON BORDOVSKY, 281.499.4539, COMPLETE IN PLACE	LS	1	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00	\$8,022.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAVOLA WEST SECTION 5
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
NOVEMBER 30, 2023
LJA ENGINEERING, INC.
T. IOSEPH

T. JOSEPH NOVEMBER 30, 2023 6969-1305 (9.2)

	NO NO.		00	00 1000 (0.2)		=:			
				4) NORKON CONS		5) HCG		6) ICON G	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
18	STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR'S BOOKLET NOI AND NOT, COMPLETE IN PLACE	LS	1	\$1,898.00	\$1,898.00	\$2,300.00	\$2,300.00	\$1,500.00	\$1,500.00
19	FINAL LOT GRADING, INCLUDING RESERVES, COMPLETE IN PLACE	EA	74	\$191.50	\$14,171.00	\$363.00	\$26,862.00	\$275.00	\$20,350.00
20	INSTALLATION, MAINTENANCE, AND REMOVAL OF CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$2,096.00	\$2,096.00	\$2,300.00	\$2,300.00	\$250.00	\$250.00
21	ADA RAMPS AS PER DETAIL, INCLUDING TRUNCATED DOME PAVERS OR GROOVED DETECTIBLE AREA AS NOTED IN CONSTRUCTION PLAN SET, COMPLETE IN PLACE	EA	6	\$2,114.00	\$12,684.00	\$1,950.00	\$11,700.00	\$1,200.00	\$7,200.00
22	TYPE III BARRICADES, COMPLETE IN PLACE	EA	2	\$2,687.00	\$5,374.00	\$1,350.00	\$2,700.00	\$250.00	\$500.00
23	28' PAVING HEADER, COMPLETE IN PLACE	LF	56	\$77.50	\$4,340.00	\$15.70	\$879.20	\$10.00	\$560.00
TAVO	DLA WEST SECTION 5 PAVING IMPROVEMENT ITEMS SUBTOTAL:				\$685,452.95		\$721,080.95		\$732,811.60
TAVO	DLA WEST SECTION 5 PAVING MISCELLANEOUS ITEMS								
1	STANDARD DEDUCT FOR STREET CLEANING, (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	HR	0	-\$150.00	\$0.00	-\$150.00	\$0.00	-\$150.00	\$0.00
2	STANDARD DEDUCT FOR DAMAGE TO A TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
3	SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00
4	CONTRACTOR TO PROVIDE AS BUILT SURVEY AT THE END OF CONSTRUCTION SHOWING ELEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES (NO ADDITIONAL PAY FOR REMOBILIZATION OF DIRT EQUIPMENT UNTIL THE LOTS ARE ACCEPTED BY THE DEVELOPER. IF THE LOTS ARE NOT BUILT ACCORDING TO THE GRADING PLAN, THEY WILL BE REGRADED AT NO SEPARATE PAY), AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LS		\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
5	4" SCHEDULE 40 P.V.C. SLEEVE, INCLUDES 6" STABILIZED SAND WRAP. COMPLETE IN PLACE	LF	80	\$32.20	\$2,576.00	\$27.00	\$2,160.00	\$21.00	\$1,680.00
6	6" SCHEDULE 40 P.V.C SLEEVE, INCLUDES 6" STABILIZED SAND WRAP, COMPLETE IN PLACE	LF	80	\$41.40	\$3,312.00	\$44.00	\$3,520.00	\$31.00	\$2,480.00
7	8" SCHEDULE 40 P.V.C. SLEEVE, INCLUDES 6" STABILIZED SAND WRAP, COMPLETE IN PLACE	LF	80	\$45.70	\$3,656.00	\$52.00	\$4,160.00	\$46.50	\$3,720.00
8	18' X 8' X 4" CONCRETE MAILBOX PAD WITH #3 AT 15' D.C.E.W. OR EQUAL WITH TWO 5' X 5 'X 4" CONCRETE SIDE PANELS, ON 2" BANK SAND BEDDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER, LOCATION TO BE DETERMINED) COMPLETE IN PLACE	EA	1	\$3,064.00	\$3,064.00	\$1,960.00	\$1,960.00	\$2,100.00	\$2,100.00
TAVO	DLA WEST SECTION 5 PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$24,608.00		\$23,800.00		\$21,980.00
TAVO	DLA WEST REC CENTER PAVING IMPROVEMENT ITEMS								
1	6" REINFORCED CONCRETE PAVMENT, COMPLETE IN PLACE	SY	1032	\$51.30	\$52,941.60	\$54.20	\$55,934.40	\$65.00	\$67,080.00
2	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	557	\$8.80	\$4,901.60	\$4.30	\$2,395.10	\$4.00	\$2,228.00
3	6" LIME/FLY-ASH STABLIZED SYBGRADE, COMPLETE IN PLACE	SY	1139	\$5.60	\$6,378.40	\$6.00	\$6,834.00	\$6.60	\$7,517.40

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE TAVOLA WEST SECTION 5
EAST MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 5
MONTGOMERY COUNTY, TEXAS
NOVEMBER 30, 2023
LJA ENGINEERING, INC.
T. JOSEPH
NOVEMBER 30, 2023
6969-1305 (9.2)

				,					
				4) NORKON CONST	TRUCTION, LLC	5) HCG, L	LC	6) ICON G	C, LLC
IT	EM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	4 HYDRATED LIME FOR STABILIAZED SUBGRADE (15 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	9	\$612.50	\$5,512.50	\$333.00	\$2,997.00	\$365.00	\$3,285.00
	5 FLY ASH STABILIZED SUBGRADE (35 LBS/SY) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, QUANTITY TO BE PAID ONLY FOR FEILD LAB RECOMMENDED QUANTITIY, COMPLETE IN PLACE	TON	20	\$317.00	\$6,340.00	\$130.00	\$2,600.00	\$188.00	\$3,760.00
	6 COMMON ROADWAY AND LOT EXCAVATION TO BE HAULED TO A DESIGNATED FILL LOCATION WITHIN 0.5 MILES OF THE PROJECT SITE UTILIZING OFF ROAD TRUCKS AND PLACED AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, INCLUDES SITE PREP, ANY TEMPORARY TRAFFIC CONTROL, FLAGMEN, ETC., REQUIRED TO CROSS OR TRAVERSE EXISITING ROADWAYS, COMPLETE IN	CY	26	\$117.50	\$3,055.00	\$18.65	\$484.90	\$13.00	\$338.00

TAVOLA WEST REC CENTER PAVING IMPROVEMENT ITEMS SUBTOTAL:

BIDDING SUMMARY

PLACE

SUBTOTAL TAVOLA WEST SECTION 5 PAVING IMPROVEMENT ITEMS SUBTOTAL TAVOLA WEST SECTION 5 PAVING MISCELLANEOUS ITEMS SUBTOTAL TAVOLA WEST REC CENTER PAVING IMPROVEMENT ITEMS

TOTAL AMOUNT BASE BID

\$79,129.10	\$71,245.40	\$84,208.40
\$685,452.95	\$721,080.95	\$732,811.60
\$24,608.00	\$23,800.00	\$21,980.00
\$79,129.10	\$71,245.40	\$84,208.40
\$789.190.05	\$816.126.35	\$839.000.00

Page 7 of 7 FRN F-1386 LJA Engineering, Inc.